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Solve:

4x4 – 4x3 – 51x2 + 106x = 40
Graphical Solution:

Split the equation up into two functions.
1. y = 
2. y = 

The solutions are the __-coordinates of where the two functions intersect:

x = ___,___,___,___
Algebraic Solution

4x4 – 4x3 – 51x2 + 106x = 40
Factor Theorem

F(2)=4(2)4–4(2)3–51(2)2+106(2) - 40
F(2) = 0,   _____ is a factor
   ____  4x4 – 4x3 – 51x2 + 106x – 40
A sheet of paper can be used to make a 3-dimentional box with a volume of 1008 cm3.  What is the length of each corner that needs to be cut to make the box.






 30 cm


20 cm

Let x represent the length of the cut.

V = B 
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Also (                ) ≥ 0
Domain : {      ≤ x ≤      , x Є R}
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